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The question paper consists of 18 questions divided into 3 sections A, B and C.

2. Section A has wial 3 questuons having a multiple-choice question and 2 case study-based questions.
3.
4. Section C has total 9 questions having five questions of 2 marks each and two-two questions of 3

Section B has 6 objective-type questions.

and 4 marks each.

There is no overall choice. However intemal choices are provided in each section. You have to
attempt only one of the alternatives in all such questions.

There is no negative marking.

Use of calculators is not permitted.

W ¥ SECTION A

W & 8 agRwew IO E | GRT ITHI 1 - wTE
{1 has 8 multiple choice sub parts. Each Sub- partis of I mark.

1. () 3 xo0&atd:

3 X 0 is equal to:
a)0 b) 1 c)3 d) -3

(i) 7T FOTTcHS quUITeh! I OTAD GHIT:
The product of three negative integers will be:
a) Y«TcH®  Positive integer
b) WFHETTﬁ? Negatve Integer
t) USlcHSR Tﬁﬂ?mﬂfﬂm{“ﬁ?*ﬂimcr Positive or Negative Integer
d) SAH A FREFTE  None of these



(i) U O & foras 7o 1A 7

How many faces does a cube have?

a) 8 b) 2 c) 6 d) 4
QR/372rGT
U garel & Tt ey a1t g 2
How many edges does a cuboid have?
a) 4 b) 8 c) 6 d) 12
(iv) U HI0T ST I I HIOT & T 4
The angle which is equal to its complement:
a) 90° b) 180° c) 45° d) 75°
(v) 02x0.16 =°
a)0.18 b) 1.8 ¢) 0.032 d) 0.32
OR/ 3¥ar
03x0.15= ?
a) 0.045 b) 4.5 ¢)0.03 d) 0.45

(vi) TRUATSEHT e F ¥ Heny FredEar & 7
Which of the following is the front view of the given solid?

a}D b) A ol | | o[ 1]

(vii) U TERIUS & fhdet 3 Tagpid & 2

How many endpoints does a line segment have?

a) 1 b) 2 c)0 d) 3
OR./3efar
va fRT & frae s fag e d?
How many end-points does a ray have?
a) 3 b) 1 c) 0 d) 2

(vii) FrfRRFTFTFT -;- HT FrEATATE?

Which of the following represents the % part?

a) b} c) d)




N
| e ¥ 3 &7 vt wuita wa & | 5w dw w23 e smew A s soaer F Qe

Ad5em.Ccom

T 4 TN Fow wv E Odw T 2 Aw AT Y
Q2 WSEEMEMMMMM“MM#HMHM 5 sub parts. You
to attempt only 4 sub-parts out of these 5 sub-parts. Each sub-part is of 2 marks,
2. W I TrRawav| JmH A 338 vF 5 A aetdraawdn
&t 3 Mo oI5 iere; IoTaT| TGl & = e R R 3 e
o £ T AT R @ g ure 3 abTemt s w R
Rahul & Aditya went for a picnic. Their mother gave them a water bottle of 5 litre.
Both of them enjoyed the picnic. Rahul consumed £ th water and Aditya consumed =th
water and they gave remaining water (o other siudents.
9 UodAT W I i weat & 3 e
Based on the above situation answer the following questions.
i) TEe o hdaTaT
How much water did Rahul drink?
{a) IL (b) 2L {c) 5L {d) 3L
iy IR T isa=Tordmar?
How much water did Aditya drink?
(2) 3L (b)L ©IL (d) 3L
jii) TRl Tl AT ATy & deal & BT aar?
How much fraction of water did they give 1o other siudents?
@il (®)sL ©:L @sL
iv) TTE 3 AT & Tame 3ife qr=it dtar 2
How much more water did Rahul consume than Aditya?
(a) 2L (b) 5L (c) IL {dj 3L
v) ThAaTuEtadr aoat adare

How much water was consumed by other students?
{a) 3L (b} iL ) 2L

3. O=& Uh AdTd # e #r 37 Szt rs e aay

FOT TTe HIGT (F=T Teei e 9T Fo7 53 &1 wr=fr =wit =l
TR T 95 OF waer A3 Hifgat AT £ 31T AT sErar
BATT A G Hifed] T S HT AAE Al-
A water tank has steps igside i. A monkey s silting on
the topmost step (i.e. the first step). The water is 2t ninth
step. If he jumps 3 sieps down & Hen jumps back 2 steps
up then:-
i} ﬁﬁ?ﬁm#aﬁmﬁtmﬂmwfﬂm?
In how many jumps will he reach the water level?

(a) 19 (b) 11 (9
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ii) Tl BT # g 7dt W ST ugE?
In how many jumps will he reach the 7" step?
{a) 07 (b) 8 (c) 5 (d) 8
i) deT roee s ¥ o ek g sraRATE 7
The jump of monkey can be represented by which of the following:
(a) -3-2 (b) 3-2 (c)-3+42 (d) 3+2
iv) U O & 9 a8 99d ST 96 a7 £ 59 &1 & AU 35 U oo & 4 Jr 3 Er
AR IR 3erer wew # 2 d@ifeat fr fr 3T T £ e oeer # g g9 I A e
qT gET v
After drinking the water, he wants to go back. For this, he jumps 4 steps up and then jumps 2
steps down in every move. In how many jumps will he reach back the top swep?
(a) 6 (b) 7 (c)3 (d) 5
v} OpeTGeldT 7 9 T Hdr qr agke?
At which step he will be in first jump?
(a) ar=dl/ Fifth (b) 7= Y/ Third
(c) =tefi7 Fourth (d)Zadv Second
WS ¥ Section B
4. /= & o 75 I° Req e #9id 4 x1=4
Fill only 4 blanks out of the following:
i) {PEE] += = 11
iy $x3m
iii) & % INFT 7 x F AT T AT x%
Find the value of x in the given figure. = .
iv) ST 3TRRT &1 faamd g e |
Solid shapes have _______ dimensions.
v) 035:5 =
5. faem=rHfaT | 4x1=4

Maich the following:

i) SHITE 100m A FAS W
| 00m above the ground
i) %3000 §F T Tt
Withdrawal of #3000 from bank
i) ATYHTel Il 5°C dGel] c)+ 100
Rise in temperature by 5°C
iv)  THE T T1200m =T
1 200m below the seal level

a) +5

b)-1200

d)-3000
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76-9 ¥ AT IHRITRAY | 7w A1 AT wTE
Q. 6 - 9 are very short answer type question. Each question is of 1 mark.

6. TATHEF frawr o gade

How many vertices does a cuboid have?

7. x & AT AT HfST |
Find the value of x. 1%

8 IREx + 29 = 100 a7 X H AT AT AT |
If x = 29 =100 then find the value of x.
OR/3%ar

afZ250 + x = 5 Ax F A AF ATAT
If 250 = x = 5 then find the value of x.

9. 2% FT% A HITA0
Find % of 2 3.

W ¥ SECTIONC

T 10 -14 SF QT 2 #%F T &1 @ no. 10 -14 is of 2 marks each.
10, Toa TEeftaoT (@sn) 9idaT & FHLF T9AT Sl 40° cF 5°cHiR U dTaT T FF A HT HTeTHam
BISHIROT & qEa F10 G 91 FHAL I ATTH FATEAT?

A certain freezing process requires that room temperature be lowered from 40° C at the rate of 5°C
every hour. What will be the room temperature 10 hours after the process begins?

11, S EYIE FIOT F AT 3:2 5| B FIOTHT A7 A7 Hifow |

The ratio of two supplementary angles is 3:2. Find the measure of smaller angle.
OR/FraT

96 HIUT A AT AT 30 Td HIT & T/ ¢ |

Find an angle which is egaals 1o i1s complement.

12, =T 2 37 % wfd fdardr Z & afradr &) 8 fdar =t & dea wra fifsv)
The sugarissold atT 37 % per kg. Find the cost of Bkg of sugar.

13, TG 24 QEA®T HTREAA T 2986.80 & AT | Grash T A A1d dilaid]
If the cost of 24 books 15 ¥ 2086.80 then find the cost of | book.
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AT Hrfard/Verify the following |
18 % [7 + (-3)] = [18x7] + [18 x (-3)]
OR/3rear
(-21) % [{-4) + (-6)] = [(-21)x {<B)] + [(-21) x (-6)]

W 15-16 S TeaT 3 ¥ &7 #1Q no. 15-16 is of 3 marks each.
15, it ArAs T amERr+s aFfer s IR ss ea IR & Rr ) aF Bram g
i) FEar = Tt meaT & 3T fEr 3 30 37 e T Tafe 39§ 10 AT TRI T AT |

i) o7« drasfraeare IRy AN (12) 3 wred fRr et 35 9 I EE Tv av
397 T UcAS A Tohdal A1 & 0L el 60 7

In a test (+5) marks are given for every correct answer and (-2) marks are given for every

incofrect answer.,
i) Savita answered all the questions and scored 30 marks though she got 10 correct answers

ii) Jai also answered all the questions and scored (- 12) marks though he got only 4 comrect
ANSWETS,
How many questions each of them had attempted wrong?

16. U HAA &7 dF415 71 cm 9T 91515 2.5cm §1 3109 & 36 AT i |

The length of a rectangle is 71 cm and its breadth is 2.5¢m \What is the area of the rectangle?
OR /373ar

UF T TG HT TAF S H 75 25 em | TS FT IRAT 25em § | SH TR A
ferer=iT o7 2

Each side of a regular polygon is 2.5 em in length . The perimeter of the polygon is 25 cm. How
many sides does the polygon have?

T 17-18 SF QT4 ¥FFTE | Q17 - 18 is of 4 marks each.

17. U & 9BAr a6 1 WeT Uger 3 53.5 fRATHr gl a7 T §1 20 #ieY 4g A 9%
frert g&r 77 &y 2
A two wheeler covers a distance of 55.3 km in 1litre of petrol. How much distance will it cover
in 20 Litres of petrol?

18. fars=fefEA ST AT &7 el 95T |
Draw the nets of the followings solids.

i) ii)

OR/ Fuar

i) )




